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1) Municipal Corporation in the City of ................ was established prior to Independence of India.

1) Nagpur 2) Calcutta 3) Bangalore 4) Kanpur

2) Match List-I correctly with List-II and select your answer using the codes given below

List-I (Authors)         List-II (Title)

a) F. W. Taylor i) Elements of Administration

b) Urwick ii) Introduction to study of Public Administration

c) Willoughby iii) Administrative Behaviour

d) White iv) Principles of Scientific Management

1) a-iii, b-iv, c-ii, d-i 2) b-iv, c-i, d-iii, a-ii

3) a-iv, b-i, d-ii, c-iii 4) a-ii, b-iii, c-i, d-iv

3) The purpose of post-entry training is .........

1) Removing defects of school education 2) Preparing for future responsibilities.

3) For requirements of present duty. 4) As a refresher training.

4) One of the common characteristics of personnel administration in developing countries is.............

1) Procedure to specialised and technical services 2) Problem of vested interest

3) Insecurity of service 4) Spoils-system

5) The Seventy-fourth (74th) Amendment-1992 to the Constitution provides ........... Schedule to the Constitution.

1) X 2) XI 3) XII 4) XIII

6) Match List-I correctly with List-II and select your answer using the codes given below

           List-I          List-II

a) Bombay Municipal Corporation i) Royal Charater of 1687

b) Madras Municipal Corporation ii) Special Legislation of 1863

c) Calcutta Municipal Corporation iii) Royal Charter of 1726

d) Delhi Municipal Corporation iv) Act of 1957

1) a-iii, b-i, c-ii, d-iv 2) a-i, b-ii, c-iv, d-iii

3) a-ii, b-iii, c-i, d-iv 4) a-iv, b-ii, c-iii, d-i

7) ........ is known as the Father of Scientific Management Movement.

1) Ordway Tead 2) Appelby Paul 3) Follet M.P. 4) F.W. Taylor
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8) Match List-I correctly with List-II and select your answer using codes given below

           List-I     List-II

A) Origin of the Organisation I) Department

B) Principle of the Organisation II) Humanistic

C) Form of Organisation III) Hierarchy

D) Approach of Organisation IV) Attainment of some purpose.

1) A-III, B-IV, C-I, D-II 2) A-IV, B-III, C-I, D-II

3) A-I, B-IV, C-II, D-III 4) A-I, B-Il, C-III,D-IV

9) BEST is ................

1) A Department of Bombay Corporation

2) Government Undertaking

3) Organisation established by Special Statute

4) Statutory body of Bombay Municipal Corporation

10) The Objective of performance budget is to evaluate ....... nature of production.

1) Only qualitative 2) Only quantitative

3) Less qualitative and more quantitative 4) More qualitative and less quantitative.

11) Why do conflicts arise in Administration?

1) Misunderstanding about the role of Administrator

2) Insufficient rules and regulations

3) Authority consciousness among the leaders and subordinates

4) Managerial incompetency of Administrators.

12) Nowadays Rural development has the ambience of ...........

1) Project Development 2) Project Management

3) Project Development and its management 4) Crash Programming

13) There are computer languages. Find the odd item out from the following ......

1) Cobol 2) Fortran 3) dBase 4) Basic

14) Point out the method most suitable for executive training ..........

1) On-the-Job training  2) Job rotation 3) Conferences 4) Case Studies

15) What is the Role of clear and strong policies in Administration?

1) Encourage delegation of authority in decision making

2) Develop the leadership in Managers

3) Help to motivate the managers

4) Encourage the psychological satisfaction.

16) Under Control mechanism, sometimes organizational objectives can point in one direction but performance

measurement and feedback practices can pull behaviour in another. This phenomenon is called as ..........

1) Goal displacement  2) Role conflict 3) Damning Effect 4) Zero-Effect
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17) Whether modern administrative leadership should be ........

1) Democratic leadership 2) Obeying the orders leadership

3) Dictatorial leadership 4) Formal organizing leadership

18) Classification of Organisation into four basic types of........

a) Mutual Benefit Organisation b) Business Concerns

c) Service Organisation and d) Commonwealth Organisations;

is related to ..........

1) Task 2) Technology 3) Culture 4) Strategy

19) Choose the right combination of answers ...........

i - Computers help in enhancing efficiency.

ii - Computers cause unemployment

iii - Computers cause temporary unemployment, but in long run help in creating alternative jobs.

iv - Computers eliminate possibilities of human error

1) i + ii + iii 2) i + iii + iv 3) i + ii + iv 4) ii + iii + iv

20) Poverty essentially means .........

1) Social backwardness 2) Deprivation

3) Lower Standard of living 4) None of these

21) Two-way communication denotes communication ...........

1) between different departmental heads 2) between different groups of workers

3) between management and general public 4) between management and workers

22) The most popular technique of direction in modem industry is .........

1) Autocratic technique 2) Consultative technique

3) Free rein technique 4) Combination of these

23) Centralisation means .........

1) No delegation of operational work

2) No delegation of managerial work

3) No delegation of both operational and managerial work

4) Complete autocracy

24) Point out the correct decision making process ............

1) Decision taken by a manager and implemented by subordinates

2) Decision taken by manager and implemented by him only

3) Decision taken in consultation with Subordinates

4) Decision taken by Subordinates and implemented by manager
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25) How far a Computer System is useful in Administration?

1) adopting the managerial operations

2) as a Tool for Management Information System

3) Proper designing the organisational structure

4) Modern technique of Management

26) Why are small groups playing the important role in communication?

1) They have better social relations

2) Interaction of views and thoughts is effectively done

3) Face to face conversation is possible

4) Effective communication can be done

27) What should the Manager know about the Computer?

1) Potential and operative performance of Computer

2) Potential and operative efficiency of Computer

3) Hardware and Software of Computer

4) Operation of Computer programmes

28) ‘X’ theory was criticised and 'Y' theory was propounded by .........

1) Oliver Sheldon 2) McGregor 3) Peter Drucker 4) Chester Barnord

29) Which of the following steps in the decision making process is wrong?

1) Defining the problem 2) Collecting relevant information

3) Developing alternatives 4) Choosing any one alternative

30) Why is a training for Administrators in Public Administration essential?

1) Increases the productivity and reduces social cost

2) Increases the effective decision-making

3) Leads to increase in the moral of Employees

4) Changes the attitudes of employees

31) Wise Management encourages ........

1) Single Union 2) Multiple Unions

3) External Unions 4) Single Union with Organisational leadership

32) You have received a complaint from Junior employee about his immediate boss on particular incident.

What step will you take first?

1) You will neglect the complaint and file it

2) You will take more details

3) You will give memo to the concerned person

4) You will ask that employee to send his complaint through proper channel
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33) Which of the following ways is NOT correct, if modern theory of Motivation is to be applied in the

organisation?

1) Get workers participation in decision-making process

2) Appreciate good performance

3) Assign responsibilities to efficient workers

4) Give punishment and threaten if there is no work.

34) Which of the following statement is NOT true about an Aptitude test employed for scientific selection

of employees?

1) It measures the potential ability of a candidate to learn a new job

2) It can be used for variety of Jobs

3) It does not measure individual’s motivation

4) It gives a total picture of various personality traits of the candidate

35) Main objective of transfer is ........

1) to maintain an equilibrium between demand and supply of employees within the organisation

2) to exercise the authority

3) to give punishment to employees

4) to increase employee morale

36) Which of the following managerial practices may increase productivity?

1) Rejecting staff-assistance

2) Identification with Management only

3) Identification with employee only

4) Consulting and identification with management and employees

37) Inspite of best training facilities, an employee will not be interested in training unless some reward is given

because ..............

1) Man is lazy by nature

2) Man is pleasure loving

3) Man does not want anything different from routine

4) Human behaviour is goal-oriented

38) Performance appraisal helps management to choose employees for promotion, because ...........

1) A review of past appraisals, along with other background data enables management to choose the

employee for promotion

2) It describes the job

3) It is logical

4) No. There is no connection between performance appraisal and promotion

39) While determining the skill of the employee for the Skill Inventory, you should consider ........

1) Only educational qualifications 2) Only emotional qualities

3) Only physical qualities 4) All of the above
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40) The difference between the training programmes for workers and managers is ..........

1) There is no difference

2) For workers, the aim is increasing generalised knowledge and understanding of total environment. For

Managers, it is more growth of individual attitudes, insights and acquisition of skills.

3) There is very little difference

4) The difference is superficial.

41) Performance appraisal is a permanent tool of personnel management, because .........

a) It provides information which is useful in making and enforcing decisions about election, training, promotion

etc.

b) It provides information useful in deciding the worth of job

c) It helps in understanding the weakness of employees and enables them to judge their own value and

accomplishments.

d) It imparts to new entrants, the basic knowledge and skill they needs for an intelligent performance

of definite tasks.

1) (b) alone is correct 2) (b) and (c) are correct

3) (a) and (c) are correct 4) (c) and (d) are correct

42) The motivation-hygiene theory was evolved by .........

1) Rensis Likert 2) Fredrick Harzberg 3) Alfred Adler 4) McCleland

43) Career Planning helps the management ..........

1) To retain the employees 2) To motivate the employees

3) To cultivate self-discipline amongst employees 4) All the three

44) Which of the following statement about employee’s morale is TRUE?

1) Management has no concern with the employee morale.

2) Morale is related to physical health of employee.

3) Morale is purely individual concept.

4) Good Motivation leads to High Morale.

45) The Need-Hierarchy Theory was evolved by

1) Sigmund Freud 2) Abram Maslow

3) Fredrick Herzberg 4) Fredrick Winslow Taylor

46) Expenditure incurred on training of the employee be considered as .........

1) unwanted expenditure 2) essential expenditure

3) Wasteful expenditure 4) investment on employees

47) Transfer of employee involves —

1) Movement of employee from one job to another job

2) Movement of employee from one place to another place.

3) Movement of employee with promotion.

4) Movement of employee without substantial change in duties, responsibilities and skills.
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48) An employee found guilty of misconduct may be given major punishment. Which of the following is NOT

the major punishment?

1) Termination of services 2) Discharge from services

3) Dismissal from services 4) Warning

49) Induction Programme is necessary for —

1) Confirmed employees 2) New employees

3) Senior employees 4) Illiterate employees

50) At the National level Manpower Planning deals with —

1) Estimating the manpower requirements of Government enterprises

2) Planning of organised labour

3) Planning of Agricultural labour

4) Population, education, job opportunities at national level.

51) Which one of the following statements is true?

1) Cash balance need not be verified.

2) Pre-intimation is necessary for verification

3) All cash balances should be checked at a time without pre-intimation

4) Surprise and second counts of cash are not advisable

52) Over-capitalization may take place when

a) Prospective income is overestimated

b) The total funds required are overestimated.

c) Excess funds are not efficiently deployed

d) Market value of the securities fall below the issue price

1) (a) alone is correct 2) (a) and (b) arc correct.

3) (a), (b) and (c) are correct 4) All are correct

53) From which of the following formula, the break-even point can be computed?

1) C/S i.e.   Cost  . 2) F x S / S - V i.e.    Fixed Cost x Sales   .

             Sales                         Sales - Variable cost

3) P/ p/v Ratio i.e.        Profit       . 4) S - V / S i.e.  Sales - variable Cost .

                      Profit/Value Ratio                          Sales

54) Forecasting is a task of .........

1) Issuing instruction 2) Keeping Records

3) Evaluating Employee performance 4) Probabing the future

55) A receipt of Rs. 875/- has been posted as Rs. 785/- and a payment of Rs. 650 has been posted as

Rs. 560/-. What is it?

1) Fraud 2) Mis-appropriation

3) Compensating error 4) Error of principle
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56) Budgeting from the beginning without any reference to any base-past budgets and actual happenings is

called as .......

1) Forecasting 2) Estimating

3) Zero base budgeting 4) Management by objectives

57) Which one of the following statements is true?

1) Budgetary Control System can operate without Standard Costing

2) Budgetary control system can not operate without Standard Costing.

3) Budgetary control system is applicable only wherever finance and expenditure is involved

4) None of the above.

58) Amount of funds invested in various components of current Assets is called—

1) Net Working Capital 2) Gross Working Capital

3) Permanent Working Capital 4) Variable Working Capital

59) In which of the following situations, would you get the largest reduction in risk by spreading your investment

across two securities?

1) When two Shares are perfectly correlated.

2) When there is no correlation.

3) When there is positive correlation.

4) When there is perfect negative correlation.

60) Because of which of the following reason, most of the managerial cadres are reluctant to accept zero

base budgeting.

1) Operation of this system requires plenty of time and money.

2) Every Manager can not have necessary technical expertise for evaluating and ranking proposals.

3) Computation of cost-benefit analysis is not possible in respect of non-financial matters.

4) All the above

61) Break-even-Analysis (B-E-P) Technique is considered to be most useful mainly because of:

1) Utility to Consumers.

2) Measurement of fixed cost in relation to production.

3) To increase the sales price to increase the profitability.

4) To analyse inter-connected factors such as cost, sales volume, and profit.

62) Integration concept of project planning includes the following stages of project life cycle:

1) Project development and preliminary engineering.

2) Bidding, Contract negotiations. Engineering decision. Purchase and Procurement.

3) Construction and Commissioning.

4) All above

63) Risk refers to variability. Several measures to denote risk are used. Important measures are given below.

Choose the most commonly used measure -

1) Range 2) Absolute deviation.

3) Standard deviation 4) Coefficient of variations and semi variance.
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64) Loan capacity of a project may be determined based on:

a) Productivity and Profitability of Investment b) Beneficiaries desire

c) Market Survery of Project. d) Recommendation of higher authority.

1) (a) alone is correct 2) (a) and (b) are correct.

3) (a), (b) and (c) are correct 4) All are correct.

65) PERT Technique was developed first time by .......

1) General Electrical Co. of America. 2) Telephone Company in America.

3) USA — NAVY 4) BHEL — in India.

66) Following elements in the Project—Analysis refer to Social objectives ........

1) Attitude of peoples towards the Project.

2) Probable operating cost of the Project.

3) Adequate arrangement for supply of inputs.

4) Project Contribution to justify the investment.

67) In which order, do the following steps in project formulation should be followed?

1) Analysis of Problem-Setting Objectives—Identification of Obstacles—Designing of Strategies-Project

Planning.

2) Setting Objectives-Designing of Strategies—Analysis of Problem—Identification of Obstacles—Project

Planning.

3) Designing Strategies—Setting Objectives—Analysis of Problem—Identification of Obstacles—Project

Planning.

4) Analysis of Problem—Designing Strategies—Project Planning—Setting Objectives—Identification of

Obstacles.

68) Money has time-value. From project point of view, a rupee today is more valuable than a rupee before

because ........

1) Individuals prefer current consumptions to future consumptions.

2) Capital can be employed productively, to generate profitable returns.

3) In inflationary period, rupee today represents a greater real purchasing power than a rupee a year

before.

4) All the above

69) Total cost of project and duration of project have direct relationship. Project cost will increase if ........

1) Project goes on indefinitely 2) Project is crashed.

3) Project cost is minimum at optimum duration 4) None of the above.

70) (A) Literacy rate in Maharashtra has increased during last decade.

(R) There is increase in outlay of Annual Plan of Government of Maharashtra.

1) Both A and R are true and R is correct explanation of A.

2) Both A and R are True but R is not the correct explanation of A.

3) A is true but R is false.

4) A is false but R is true.
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71) Municipal Corporation is established in big cities where population is ———

1) 5 lakhs or more 2) 7 lakhs 3) 10 lakhs 4) 15 lakhs

72) Octroi can not be abolished, because ————

1) Octroi is an oldest tax. 2) It has financial significance.

3) Traders support continuance of Octroi. 4) Octroi collection is easy.

73) Which one of the following factors is the main cause for Brihan-Mumbai being called a ‘Commercial

Capital’ of the country?

1) Existence of large number of financial institutions in Mumbai.

2) Annual turnover of existing Trades and Industry is much higher.

3) The total revenue and taxes collected and contributed to Central Government Fund from Brihan-Mumbai

is the highest compared to any other city.

4) There is international level Sea Port.

74) The main thrust of the new policy dealing with existing slums in Brihan-Mumbai is ........

1) Slum improvement

2) Slum upgradation

3) SIum clearance and rehabilitation on the same site at no cost to slum-dwellers.

4) Self-help housing.

75) Fire took place in a big tent, where around 1000 pilgrims were accommodated. Many died. What preliminary

steps would need to be taken in future to save lives?

1) Pilgrims should be accommodated in pucca homes.

2) Telephone connection should be installed near the tent to establish police contact.

3) Ample exits should be provided to such tent.

4) Police station should be set up near the tent.

76) Who is the Sheriff of Mumbai at present?

1) Nani Palkhiwala 2) Sunil Gavaskar 3) Sunil Dutta 4) Usha Kiran

77) Sanjay Gandhi National Park is located at ...

1) Bhiwandi 2) Borivli 3) Bandra 4) Bahubali.

78) “In majority cases, the Chawls are impossible for making any improvement and therefore fit only for demolition"

It is advised, by ........

1) Report by Royal Commission on the Labour 2) World Health Organisation

3) Ministry of Health 4) Mahatma Gandhi.

79) First Marathi World Conference was held in the year ........

1) 1930 2) 1960 3) 1989 4) 1948
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80) Who established First Political Organisation, a Bombay Association in the year 1852?

1) Bal Ganagadhar Tilak 2) Jagannath Shankarsheth

3) Balshastri Jambhekar 4) Gopal Hari Deshmukh.

81) The city is a product and generator of man’s ........

1) livelihood 2) enjoyment 3) tensions 4) creative talents

82) The standard of Pure Water has been setted at ......... bacteria per 100 cubic c.m. of water.

1) One Coliform 2) Five Coliform 3) Eight Coliform 4) Ten Coliform.

83) ........ is associated with Slums

1) Immoral life 2) High culture 3) Scientific approach 4) Good environment.

84) Name the First Indian, who got the ‘Night’ Award?

1) Sir Jamshedji Jiji Bhoy 2) Maphatlal

3) Shankar Sheth 4) Sarojini Naidu.

85) Cities by and large produce .........

1) arts 2) literature 3) science 4) all above.

86) Who constructed the First Dock Yard in Bombay?

1) Lawaji Nasarwanji Wadia 2) Sharad Jamkhanwala

3) Firojshaha Mehta 4) Devendra Saxena.

87) Who set up J. J. School of An in Bombay?

1) Dadabhai Nouroji 2) Lord Elphinstone

3) Sir Jamshedji Ji Ji Bhoy 4) P. K. Atre

88) The inauguration of Taj Mahal Hotel in Bombay was held in the ....... year.

1) 1885 2) 1909 3) 1890 4) 1903

89) ......... is the first air conditioned Cinema Theatre in Bombay

1) Plaza 2) Regal 3) Maratha Mandir 4) Rahul

90) The Census of 1991 shows ............ literacy rate of Female in Bombay.

1) 69% 2) 65.14% 3) 64.59% 4) 54.09%
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91) Consider —

Freedom of speech and expression means .........

a) One can criticise his own government freely

b) One has the liberty to express himself freely

c) One can criticise foreign governments

d) One has the unrestricted right to criticise anybody

1) (a) alone is correct 2) (a) and (b) are correct

3) (a), (b) and (c) are correct 4) All are correct.

92) By which amendment the right to property was omitted as fundamental right and was made a legal right?

1) 17th Amendment 2) 24th Amendment

3) 25th Amendment 4) 44th Amendment

93) Considering the degree of prohibited relationship under the Hindu Marriage Act, two persons cannot marry

if they stand with the following relations:

a) Brother and Sister b) Uncle an Niece

c) Aunt and Nephew d) Children of brothers and sisters

1) (a) alone is correct 2) (a) and (b) are correct

3) (a), (b) and (c) are correct 4) All are correct.

94) Assertion (A) - Any property possessed by a female Hindu, shall be held by her as full owner thereof

and not as a limited owner.

Reason (R) - Section-14 of the Hindu Succession Act, makes a provision to that effect.

Mark Your answer :—

1) Both A and R are true and R is the correct reason for A

2) Both A and R are true but R is Not the correct reason for A

3) A is true but R is false

4) A is false but R is true

95) The purpose for which a Wakf may be created must be :

a) religious b) pious or charitable

c) commercial d) sentimental

1) (a) alone is correct 2) (a) and (b) are correct

3) (a), (b) and (c) are correct 4) All are correct

96) Benefit received under a voidable or void contract should be restored, if one desires in remind such a

contract under the following maxim of equity ........

1) Equality is equity 2) Equity looks to the interest rather than form

3) He who seeks equity must do equity 4) Equity follows the law

97) Select correct proposition commenting upon relation between Equity and Common Law

1) Common Law supplements equity

2) Equity Supplements common law

3) Equity is in direct conflict with the common law

4) Equity supercedes express and clear common law
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98) Right to equality means :

a) All must be treated equally

b) All equals must be treated equally

c) State should not discriminate among citizens on any ground whatsoever

d) Reservations in employment

Of these statements :

1) (a) is true 2) (b) is true 3) (c) is true 4) (d) is true

99) Which of the following Articles deals with the abolition of untouchability

a) Article 14 b) Article 17 c) Article 18 d) Article 19

1) (a) is correct 2) (b) is correct 3) (c) is correct 4) All are correct

100) A right to file a writ for protecting fundamental right is mentioned in Article ......

1) Article 17 2) Article 30 3) Article 32 4) Article 33
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Answers

1) Municipal Corporation in the City of ................ was established prior to Independence of India.

1) Nagpur 2) Calcutta 3) Bangalore 4) Kanpur

1-2 2-2 3-2 4-1 5-3 6-1 7-4 8-2 9-4 10-4

11-3 12-3 13-3 14-3 15-1 16-2 17-1 18-1 19-2 20-2

21-4 22-2 23-2 24-3 25-2 26-2 27-1 28-2 29-4 30-2

31-4 32-2 33-4 34-3 35-1 36-4 37-4 38-1 39-4 40-2

41-3 42-2 43-4 44-4 45-2 46-4 47-4 48-4 49-2 50-4

51-3 52-3 53-2 54-4 55-3 56-3 57-2 58-2 59-2 60-4

61-4 62-4 63-3 64-3 65-3 66-1 67-1 68-4 69-1 70-1

71-1 72-2 73-3 74-3 75-3 76-x 77-2 78-3 79-3 80-2

81-1 82-1 83-1 84-1 85-4 86-1 87-3 88-4 89-3 90-3

91-2 92-4 93-3 94-1 95-2 96-3 97-2 98-3 99-2 100-3


